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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question /part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Diagrams/ Figures, wherever required, may be drawn/given in the space provided for answering
the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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CLFETBA nex
SECTION A

Q1. Ffeiiad weieh v &1 3w e 150 Yrsgt # A
Answer the following questions in about 150 words each : 10x5=50

(a)

(b)

(c)

(d)

(e)

Q2. (a)

(b)

(c)

ArEHRIIETH § e TR & Tohigfie o s € 2 ¥ s @ skt § e
FEATTHLH 2 2

How many types of gametophytes are found in Lycopodium ? Why is it
difficult to collect such prothalli in nature ? 5+5=10

TUTHEE I HIRTHT & H4 R 2 2 30 Fmfor 1 Feifa # arr st &5
Iecr@ T 3 BRI 3 it @ feoquft frfiaw |

How does heterocyst differ from vegetative cell ? Mention the factors
controlling its formation and add a note on functions of heterocysts. 5+5=10

ey JfifhT § HeATensh: e RS HE I B §, aHesy |
Explain how the numerical expression of data is utilized in plant
systematics. 10

“HISHICATSHT AT, Sigatt Ud wrewt & ific 47 ¥e7 @ § 17 39 F97 H SR
Serewn & fag Hif |

“Mycoplasma causes serious diseases in humans, animals and plants.”
Substantiate the statement with suitable examples. 10

TSI T WA GTAIST U1eY Y shiffeht (RefRraietstt) s 3@ s sear 2 2
How does the infection of a pathogen affect the host plant physiology ? 10

TEpmEHe R AfufeimmRe & wow™ F vER # AmHead fIRT |
e TS HICH e # we fwior 3 fafirr <ot ot suze ot 3wy fifaw
Enumerate the types of fruiting bodies of Ascomycota and

Basidiomycota. Write the various steps of ascus formation in
Ascomycetous members with suitable illustrations. 10+10=20

fersort T Seq= wrew Wit 3 Tshwor ST a3 i ol 7 # o fewr dfv

What are the various modes of infection and dissemination of plant

diseases caused by viruses ? Describe. 8+7=15
I AR NG % WY Fler F T A ATET GpA B e awor A |
3TYeh! 36 TS i SIS F1 AT =1f2T 2

Briefly describe the male and female strobili of Gnetum with suitable
labelled diagrams. Why should you consider this plant a gymnosperm ?
10+5=15
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SPM 1A5 ACADEMY

Q3. (a)
(b)
(c)
Q4. (a)
(b)

(o)

SIS F STV Sacieh bl ST SiE2fTaraoT 3 afed 2 #, Suger SRl ol
e o | fae=rT FIfer |

Discuss how progressive sterilization of sporogenous tissue occurs in
bryophytes, with suitable diagrams and examples. 20

FARGTZHT F Taed] ¥ e Tire i AT 1 a0 Hiferg |
Describe the ranges of thallus organization in the members of
Chlorophyceae. 15

TSI, TS, ST, T 3T FEEY shi saredt g | T AT 6
fue 7 T % Tl o Secifad Hifee |

Explain holotype, isotype, paratype, lectotype and neotype. Mention the
advantages of binomial system of plant nomenclature. 10+5=15

1] 1 ST e AT T O § SRS (e ¥ TRk Sfiet, T s
oriaror % SuTEt % avid ifs |

Describe the causal organisms, disease cycle and control measures of
Early Blight of Potato and Blast of Rice. 10+10=20

AT T e st 7 € 2 WAt 3§ st o foeem
Tt 3 AT G Aot s 3fea feri o wrer anfiha i |

What are eusporangiate and leptosporangiate sporangia ? Classify the

sori based on the mode of development of sporangia in ferns, with
suitable illustrations. 5+10=15

Rt ¥ T Rifie arseg sl & TeefiSTopt # wErTeen e s fee
AT | greeHa § TSI aTel ST aevil o wigre fevaoft ffaa |
Give an account of structural variation in the megasporophylls of

different Cycas species with illustrations. Add a brief note on the
primitive features in Cycas. 10+5=15
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SECTION B

Q5. TrmferReaa weieh W &t IvR erTHT 150 wreat # Afu
Answer the following questions in about 150 words each : 10x5=50

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

HrqslisT # e afted=t o6 auiq Hifsre i s o fafraard

Give an account of post-fertilization changes leading to formation of
seeds in angiosperms. 10

o farfere fereimferat = it fasfiorosft aredt # srei e gfg 1w 2

What are the various anomalies causing anomalous secondary growth in

dicotyledonous plants ? 10
A el S aeEfaes SaHt % T fafa st sryfe aew sdae
STEafaeh SeHT ot sfieRT it ga F ==t fifv |

Name three important Indian Botanical Gardens and discuss briefly the
role of botanical gardens in modern plant research. 3+7=10
(e AT T el T Iecid hifT |

Mention the botanical name and family of plants from which Aconite,
Isabgol, Ashwagandha, Vasaka and Ipecac are obtained. 10

YT ST T ® 2 e Yot (Fafen) o gur § fRe ot weer 2 2 suer 4 arfat
AT |

What is embryo rescue ? How does this method help in crop
improvement ? State two disadvantages of it. 10

FERferet T et Feil F fovtash eor 1 ¥ 2 T ot F Pt ot wawdt
FEEfdes W 3R 3l A forfiay |

What are the diagnostic characters of the families — Cucurbitaceae and
Poaceae ? Write the botanical names and economic importance of any
five members from each family. 10+10=20

Fivd dei i Ieafr | arfacda F der w Rovft £ | uwa % B f o
SeATEH UMl < AT taen A1 377 3T SuanT fohe ST arer Wit 5 frfiae |

Comment on Vavilov’s contributions on the origin of cultivated plants.
Write the botanical name and parts used of any three dye-yielding
plants of India. 9+6=15
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Q7.

PM 1AS ACADEMY

HAPING BRILLIANCE

(c)

(a)

(b)

(c)

AT HEWT T Hew T & 2 TRV o WeRU & folt 379w U qiieht Y samean
hITST | &2 2 Fdrer o fevquft forfia |

What is the importance of pollen storage ? Explain the methods adopted
for storage of pollen grains. Add a note on test tube fertilization. 5+5+5=15

fifeRa wreul 3 areafass T, e, T W A SRR Ue SufTaT fafa -
@)

(i) H®
(i) e
(iv) fuefrer
(v) HFEE

Write the botanical name, family, morphology of useful parts and uses of

the following plants : 20
(1)  Safflower

(i1)) Fennel

(iii) Chicory

(iv) Tapioca

(v) Teak

IRy MR G § wnfie fafier =l i s HifNT | 39 d@Ais S e
HIT3HT T e HITT | FHTTIeh HoHoT i o Gar H T o @ 2
Explain the various steps involved in plant protoplast culture. Mention

the major limitations of this technique. What is the role of somatic
hybridization in crop improvement ? 5+5+5=15

feeftorasft shedier drt o e ST At o SRR o Sreft geae 39 Sfdei
wE o W feraeor AN | e (V) Weae & dF I1fen ud A 3 il H IeoiE
IS |

Give an account of different types of axial parenchyma found in

dicotyledonous woody plants stating their phylogenetic significance.
Mention two primitive and two advanced features of ray parenchyma.

6+5+4=15
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(b)

(c)

HERSH T & T T8 Ui wrew yael faftrt & 3 firer & 2 gemrgareda & waet
GRS s Gl o Heeaor & I o foraor S | 50 qerien o6 efaet
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What is micropropagation and how does it differ from traditional plant
propagation methods ? Give an account of the applications of
micropropagation in crop improvement and conservation of endangered
plants. Add a brief note on the challenges of this technique. 5+10+5=20

TEYUTAT Ue ANFHBA | 3Tt T8 T | 1 ¥erser s arffeor HifvT 31T 353
e 9T feuguft e |

Distinguish between polyembryony and parthenocarpy. Classify
parthenocarpy and add a note on its significance. 5+5+5=15

wsiorgw o Ieure ki wfswAT i vk wwvEr A | asfrgw aui-de & sERe
HOT % &9 H 8 1 € 2 Wsfore aohediss o gTfer st ot fevgoft i |
Give an outline on the process of producing cybrids. How do cybrids

differ from hybrids in terms of their genetic composition ? Comment on
the potential applications of cybrid technology. 5+5+5=15
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